
Q1) A) Fill in the blanks (attempt any 5 out of 6) : [5]

i) Agriculture Development Stage

a) Traditional Farming

b) Less capital intensive Agriculture

c) More capital intensive farming

d) All of the above

ii) Cultivation of Fruits and vegetable is known as _________

a) Sericulture b) Floriculture

c) Horticulture d) Agriculture

iii) Which state is known for their success in the Green revolution?

a) Punjab b) Uttar Pradesh

c) Maharashtra d) Goa

iv) Which of the following factors that affect the determination of
Industrial location?

a) Raw material availability

b) Transportation facilities

c) Market availability

d) All of the above
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v) When Consumer Price Index (CPI) data released?

a) Every week b) Every month

c) Every year d) Every day

vi) A __________ is a for profit business organisation.

a) Industry b) Plant

c) Firm d) Family

B) Match the following : [5]

A B

i) Cash Crop a) Agriculture

ii) Fertilizers b) Theory of Industrial location

iii) Price Index c) WPI

iv) Florence d) Sugarcane

v) Primary sector e) Agricultural Input

Q2) Write a short notes on (any 2 out of 4) : [10]

a) Public Sector.

b) The concept of Plant, Firm and Industry.

c) Disadvantages of large size of Farm.

d) Causes of Industrial imbalance.

Q3) a) Examine the importance of Agriculture in Indian Economy. [8]

b) Explain the factors affecting on Industrial location. [7]

Q4) a) Define Agriculture Economics. Explain the scope and importance of
Agriculture Economy. [8]

b) Explain the Webber's theory of Industrial location. [7]
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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (ghm n¡H$s H$moUË`mhr nmM) [5]

i) ................. øm eoVr {dH$mgmÀ`m AdñWm AmhoV.

A) nma§nmarH$ eoVr ~) H$_r ^m§S>dbàYmZ eoVr

H$) OmñV ^m§S>dbàYmZ eoVr S>) darbn¡H$s gd©

ii) \$io Am{U ^mOrnmbm bmJdS> .............. åhUyZ AmoiIbr OmVo.

A) goarH$ëMa ~) âbmoarH$ëMa

H$) hmoQ>uH$ëMa S>) A°J«rH$ëMa

iii) H$moUVo amÁ` harVH«$m§VrÀ`m `emgmR>r à{gÕ Amho?

A) n§Om~ ~) CÎmaàXoe

H$) _hmamï´> S>) Jmodm

iv) Imbrb n¡H$s H$moUVm KQ>H$ Am¡X²̀ mo{JH$ ñWmZ{ZpíMVrda narUm_ H$aVmo?

A) H$ƒm _mbmMr CnbãYVm ~) dmhVwH$ gw{dYm

H$) ~mOma CnbãYVm S>) darbn¡H$s gd©

v) J«mhH$ qH$_V {ZX}em§H$ AmH$S>odmar H$Yr Omhra Ho$br OmVo?

A) Xa AmR>dS>`mbm ~) Xa _hrÊ`mbm

H$) Xa dU©bm S>) XaamoO
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vi) ................. hr Z\$m CX`moJ g§ñWm Amho.

A) CX`moJ ~) g§`§Ì

H$) CX²̀ moJg§ñWm S>) H§w$Qw>§~

~) OmoS²>`m Owidm. [5]

"A' "~'

i) ZJXr {nH$ A) eoVr

ii) IVo ~) Am¡X²̀ mo{JH$ ñWmZ{ZpíMVrMm {gÕm§V

iii) qH$_V {ZX}em§H$ H$) S>ãby.nr.Am`.

iv) âbmoaoÝg S>) D$g

v) àmW{_H$ joÌ B) H¥$fr AmXmZo

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm. (Mma n¡H$s H$moUË`mhr XmoZ) [10]

A) gmd©O{ZH$ joÌ

~) g§̀ §Ì, CX²̀ moJg§ñWm Am{U CX²̀ moJ-g§H$ënZm

H$) _moR>`m YmaUjoÌmMo VmoQ>o

S>) Am¡X²̀ mo{JH$ Ag_VmobmMr H$maUo

àíZ àíZ àíZ àíZ àíZ 3) A) ^maVr` AW©ì`dñWoV eoVrMo _hËd ñnï> H$am. [8]

~) Am¡X²̀ mo{JH$ ñWmZ{ZpíMVrda narUm_ H$aUmao KQ>H$ ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) H¥$fr AW©emó åhUOo H$m`? H¥$fr AW©emómMr ì`már Am{U _hËd ñnï> H$am. [8]

~) do~aMm Am¡X²̀ mo{JH$ ñWmZ{ZpíMVrMm {gÕm§V ñnï> H$am. [7]
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